Célculo 2 - Lista 11 5. —to— 72T +C
Integracao por substituicao 6. —3cos s Ly C
Calcule as integrais usando o método 7. 2sin/z + C
8
9

da substituicéo

3t —dx+ C

1. [3x(1 )10 dz R i Ee

2. f(m3+5) dx 10. £(6t — 31 +C

3. [ At 11. 3e* 5 4+ C

4. [22/2 — 423 d 12. SIn(z?+4)+C

5. f\/ﬁ 13. —2cos’z + C

6. [sintdt 14. sine® + C

- fcosf di 15. e 4 ¢

8. fmdx 16. ln]tana;\wLC 5 3

; fi(Hi)m . 17. 2(1+2)2—1(142)2+3(1+2)2+C
' 18. Injx 4+ cosz|+C

10. [(2 - )V6t — 3 dt 19. 1(1+4e"): +C

11. [ €245 da 20. L(1+4e")7 — L(1+4e%)? 4+ C
12. [ =t da

13. [2sinx cos? x dx
14. [e" cose” dx
15. fesm cosx dx

16. [ gy

tanx

17. [2*V1+z dx
18 fl sinx d:l?

xr+cosx

19. [e"/1+ 4e® du
20. feQx\/l + 4e* dx

resposta

1. 44(1 20°)" 4+ C
1
swp +C

2. —
3. 5V22+1+C
4. —L(2—4a%)5 + C



